o
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2.

3.

- If one mole of ammonia and one mole of hydrogen cl

10. Which of the following is not a t
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ONE MARK TEST -3 Lesson: 7
CHEMISTRY :

In a reversible process, the change in entropy of the universe g

a) >0 b)>0 ¢) <0 dy=0
For a cyclic process involving isothermal expansion of an ideal gag
a)AU=0 b) AU =q AU =q+w AU =q-w o
All the naturally occurring processes proceed spontancously in a dircction which leads @
a) decrease in entropy

b) increase in enthalpy
d) decreasc in free cnergy
iloride are mixed in a ¢l d ¢

¢) increase in free energy

ainer to form
ammonium chloride gas, then

a) AH > AU b)AH-AU=0 c)AH+AU=0 dpAH <
- The enthalpy of neutralization of strong acid vs strong base is approxi:@equal t (in kJ).
a) 57.32 b)—-57.32 c) 5.98 a 9898
- When 15.68 litres of a gas mixture of methane and propane are fi dmbustedeat and 1 atmosphere,
32 litres of oxygen at the same temperature and pressure are/€onsmmed. Th %t of heat released from
this combustion in kJ is (AHc (CHa) =— 890 kJ mol"! and ARZ3H3) = % mol )
a) -889 kJ b) -1390 kJ @kJ -632.68 kJ
- In Calorimeter, the expression used to calculate the a of heat eh the process is
a) C=gmAT b) C=m/qAT chC = ¢/ d) C=qAT/m
. In an adiabatic expansion of an ideal gas ®
a)w=-Au b)w=Au+A c) Au= dDHw=0
- The maximum efficiency of an automobill;%e workifig befween the temperatures 816°C and 21°C is
a)73 % b) 45% o] )6

d) 78%
amic ?

a) internal energy b) enthalp c) entropy d) frictional energy
1. The bond dissociation ener cthane and hc are 360 kJ mol™! and 620 kJ mol-! respectively. Then,
the bond dissociation ¢ £ -C bo&
a) 170 kJ mol”! %0 kIim ¢) 80 kJ mol! d) 220 kJ mol!
12. Which of the followi cess is feu tall temperatures?
a) AH>0, AS b) All 0 ¢) AH<0, AS>0 d) AH<0, AS<0
13. The heat of f% of COANMEC & arc -26,4 kCal and -94 kCal, respectively. Heat of combustion of
ar will be
Akea -67.6 kcal ¢) -120.6 keal d) +52.8 keal
14. For ic process inG}g isothermal expansion of an ideal gas, ¢ =
Q e b)q=rav C)q=w dq=w
15. temperature he system, deereases in an
&) Isothermal expansion b) Isothermal compression
Qv ¢) adiabatic expansion d) adiabatice compression
. Which one of the following spontancous reaction is endothermic?
a) combustion of methane b) dissolution ol ammonium nitrate
¢) acid-base neutralization reaction d) none of the above
17. Change in internal energy, when 4 kJ of work is done on the system and | kJ of heat is given out by the
system is
a) +1 Kkl b) -5 kI c) 43 kJ A 3K
I8, In an isothermal reversible compression of an idex] gus the sign of 4 AS ind w e respectively
a) +, -, — (b) -, +, - ¢)+, - + <

d) <, 4
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’ H ases,

‘ T ngs 1ncre :

- The tota] ®ntropy change for a system and its sunoundle xgothermic - d by e sl |

2 ) reversipe b) irreversible g stant pressure 1 gIven 0y ty N
- amoyy op heat exchanged with the surrounding at con

d) AG
AS -
_ b) AH © asible? '
21. In Which op the following process. the process is always non-feas . d) AH<0, AS<0
2. C(d‘amo“d) > Clgraphite), Alj = ~ve, this indicates that
a) Braphite i more stable ()

¢) both a

g d) stability cannot be predicted
. An ideal gy EXpands fron, the volume o 1x 107
Lx 100 Nm2, The w

‘1o | x 10 m? at 300K against a constant pressure
m? {o .
ork done ig
a) —

if the process is
d) endothermic

. than diamond
ot B b) graphitc has more enetgy
e cqually stap)e

b
» Which ope of the following ig incorrect
a) Extensjve Property

b) path function
) AG < fora SPontaneous procesg

d) AG > 0 for a nori-spontancous process
- Molar heat of vaporization ofa liquid is 4.g kJ mo]!
point of the liquid is

- If the entropy change is 16 J mol"! K-'. the boiling
a) 323 K
- A reaction that occursg under the given set of conditi
a) Reversible b) Spontaneouys
- The values of AH and AS

fora reaction are réspecti
- temperatyre above which the reaction will become
a) 300 K '

- In which of the enlisted ¢
a)_ Deterrnination of 1a

¢) 270 kJ d)~900 kJ
about Gibbs free energy?

riving force is called reactio
d) cyclic
and 100 JK™! mol-!. Then the

¢)-irreversibie
vely 30 kJ mo]-!

ases, Hess’s law is

S not applicable?
ttice energy

d) Determination of
- The value of AH for ¢
will be [given Cp= gR]
a) -250 R
30. Match the following:

entropy

(A) Adiabatic - 111, B- %v, C= 1, D-— 11
(B) Isothermal m (b) A—ii, B— 1V, C—iii, D -1.
(O lsobaric " Tiag=0 | ©a-iv bt oo 07
(D) Isochoric |GvdT=0 |

WA-i, B-iv, C—ii, p_ g

y . . t mall.co
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